
PAGE 1 / 15 

 

5
4

0
5

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

                                                                                                                

 

35 min 

JOSS 



PAGE 2 / 15 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

  

 



PAGE 3 / 15 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

MAX LOAD 30 KG 



PAGE 4 / 15 

 

 

 

 

 

 

 

 

 

  

  

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ø8x30      Ax16 

 
Bx16 

 Cx16 

 Dx16 

 Ex1 

 
Fx1 

 
Gx6 

 
Hx4 

        
Ix2 

 
Kx1 

          Jx12 

Ø3,5x15    Mx20 

 Nx48 

 
Ox2 

M6x40  Sx5 

Ø3x15    Vx6 

 

Zx4 

M6x16   Xx4 

Ø4,5x17    Qx8 

 Wx3 

 Yx3 



PAGE 5 / 15 

 

Ø8x30      Ax8 
      Cx8 

    

 
   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

1 

  
Ø8x30      Ax8 

      Cx8 
      

 

2 



PAGE 6 / 15 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

 
Gx6 

 
Ox2 

Ø3,5x15    Mx4 
  

    

 

    
 

Bx16 
 

     

 

4 



PAGE 7 / 15 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

 Dx8     

 
     

  
    

 

6 

   Dx8 

  
 

 

    

 



PAGE 8 / 15 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7 

8 

 Nx48     

 
     

  
    

 



PAGE 9 / 15 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

10 

    

    

    

 

9 

M6x40  Sx5  Ex1  Fx1 

Ø3,5x15     Mx4 
    

  
    

 



PAGE 10 / 15 

 

 

  

11 

12 

 

Zx4 
 

Kx1 

  
Ø4,5x17    Qx8 

  
M6x16   Xx4 

 

    
 

Ox2 
 

     

  
    

 



PAGE 11 / 15 

 

  
         

Jx12 
    

    

 

  

13 

14 



PAGE 12 / 15 

 

 

  

15

16 

 
Hx4 Ø3,5x15    Mx8 

 Yx2   

    

 



PAGE 13 / 15 

 

  

17 

18 

Let op: De scharnieren van de  

middelste deur wijken af van de  

deuren aan de zijkant! 

 

       

Ix2 Ø3,5x15    Mx4 

 Yx1   

    

 



PAGE 14 / 15 

 

 Wx3 Ø3x15    Vx6 
    

    

 

 

 

 

 

 

 

 

 

  

19 



PAGE 15 / 15 

 

 


